Calculus Rules

2. Product Rule di(uv) =uv' +vu’
X

“Write down the FIRST and DIFF the SECOND, PLUS write down the
SECOND and DIFF the FIRST”

eg. (i) y=x (X' ~6) () y=(x-2)(2x-3)
%:(XY)(9XS)+(XQ_6)(7XG) o =(x=2)(2)+(2x-3)(1)
— 9% + 75 — 42 = 2x—4+2x-3
=16x" —42x° =4x—7

... d
(iii) &{(ﬂ -~ x‘”)(Bx2 +7)}
= (X" =x%)(6x)+(3x* +7)(7x° —3x?)
=6x° —6x* +21x° —9x* + 49x° — 21x°
= 27x° +49x° —15x* — 21x°




(i )dy 3x(x? +4)
di (3x){5(x" +4)" (2x)} + (¢ +4)’ (3)
= 30x° (x2+4)4+3(x2+4)5

= (x2 +4)4 {I’:Ox2 +3(x2 +4)}

Exercise 9H; 2ac, 3bdf,

= (% +4)4(33x2 +12) 4a, 5ac, 7, 9ac,
=3(x? +4)4 (11x* +4) 1982, 24

(v) Yy =2Xv2X-1 1
=2x(2x-1)2

gi (ZX){;(Zx—ll)2(2)}+(21<—1)2(2)

:(2x)(2x—11) 2 +2(2x-1)2 dy 2(3x-1)
=2(2x—1)_f{X+(2X—1)} dx  2x-1
=2(2x-1)2(3x-1)



